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General Instructions : (i) All questions are compulsory.
' (if) Use of calculator is not permitted.
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Fdor

(2]
: (31) TS 19 4 7% sfvageeda v § 1w TE W3
Fruffta &

Instruction : (A) Question Nos. 110 4 are very short answer type questions.

-1

-4

Each question carries | mark.

i 2 |
AAHFA THIHOT -i%+[%]x+,x=o # Ffz @ 9@ I

Lo L]

Find the order and degree of differential

2
equation %t% + [%]K + .r"‘ =0.

W 7=+ — 20 R Rew o @ B

Find direction cosines of vector G =i + Jj — 2k.

f:‘ sin2x dx &1 WA A Ffag)

Find the value of L% sin2x dx.

1 3 ~2 5
= = ,MA-B WAATA
Ik 4 l_z 5], B {3 4| : Hifeg

If ,4=|12 :I,B I_z SI then find the value of 4 - B.

[1]

(1]

(1)

(1]

NM-45+ A



https://www.studydiscuss.in

(3]

Fréer : (®) mmsﬂuwﬂ?ﬁ!ﬂﬂmhmmmzm

fruifa €
Instruction : (B) Question Nos. 5 to llareshonanswertype questions.
Each question carries 2 marks.
1 1 1
-5 1 1=x 1 | =W 3@ S
1 1 14y
1 1 l
Findthe valueof |1 1-x 1
I 1 14y

-6 g y= x“'z‘rth‘b’innﬁmﬂml

If ¥ = x"*, then find the value of %.

w-7 oz #ifag e

tan"'x + cot™' x =%-

Prove that

tan™' x + cot™' x =%-

wa-8  aik £ 3l Fye van e wed € B P(E) = 06, P(M) = 03 ol
P(ENF)= 0.2, P(ElF) @ P(F/E) T %)

Given that E and F are events such that P(E.") =06, P(F)=0.3 and

P(ENF)==0.2, find P(E/F) and P(FIE).

2]

2]

[1+1=2]

[1+1=2]

NM-45+.A

PT.0. A
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[4]

[ 3

If y =,feosx + y,thenﬁndﬂ;evaluqof %

T9T-10 ﬁgaii(-1.0,2)@1(3,4,6)ﬂﬂmaﬁamnmawﬁmm

W Fifg)

Find the vector equation of line which passes through the points

(-1, 0, 2) and (3, 4, 6).

b

sin x

WeT-11 fmtﬁ ﬂmmﬁﬁil

Find the value of fmdt

W12 s g 2 Lo ’+u-nﬂm!ﬁmr

Solve the differential equation & _ o=~ 4+ xe~
Ve = '

WA AR = Jooux y A B g g AR
: _

[1+1=2)

[1+1=2)

2]

| e
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[5]
Fdr : (W) mmwinﬁﬁuﬁqmtlmm 18, 20
o 21 3 st frwed 1 vl v w4 s Prifa &)
Instruction : (C) Quéstion Nos. 13 to 23 are long answer type questions.
Question Nos. 15, 20 and 21 have internal choice. Each

quwtionurﬁﬁs4mnks. RS

_ a be ac+c
w-13 fe Wi | +ab b ac |=4a’b’c* . (4]
[ ab B +be - & .
a be ac+ct
Provethat |a® +ab & ac |= 4a’b’c’ .
ab b +be &

WA-14 T f(x) =Jx — 4 F e 3w (2, 4) F dui ¥ shea wm v
©
1 o S http://www.cgboardonline.com (4]

Verify Lagl'lnge’s mean value theorem for the function
f(x) =Jx* — 4 inthe interval [2, 4],

W-15 O TR N W Tirennr e €, & W gy 900 v A, iy Sk

R e e &) TR 9 B vty o wif,
firour 15 it #1 [4])
Ab.uoonwmch.lwmmmmeui.bmgmnuedby
pumping in 900 cubic cm of gas per Second. Find the rate at which
the radius of the balloon increases, Whe ¢ radius is 15 cm.

e

NM-45+A - '
RT.O. .
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Find the two numbers whose sum is 24
as possible.

W16 [e*.cos2rdr w1 W Wy, N

Find the value of f € cos2xdx .

W-17 e i x% +2y = x"logx %! ¥ wifng)

[“4]
Solve the differential equation x% +2y = x’logx.
WT-18 39 WA wda W VT T i Fores el 7 — 3i+ j-2%k
™ b=i-3j+4k ¥ ‘ 4

a=3i+j~2k and Fa]__aj.{.d'k.

——— ——
‘NM-45+ A
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7]
W19 . (xk)+j. (i x k) + k. (0 %)) B 3@ S [4]
L J

Find the value of i (jx )+ (Ix k) + k. (i x j).

W-20 A cos'x4cos'y4cos'z=x ® o fag #fag fs

x’+y'+z'+2.tyz-_-1_

[4]
If oos"x+cos"y+eol"z-—-i, then prove  that
Ll B I S ey
3rerar
OR
tan-| Y1+ % —1

4]
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wet-22

w¥i-23

(8)
" Srear
OR |

'ﬂﬁmf:ll-bkmg :R-pnmzﬁx)-x’+23ﬁ( g(x)'x—l )
x# 1 g viwfa 8, fog 3R gof g W

If the function f : R—R begimby)(x)=r’+2andg rR—R

=, x#1, find fog and gof-

be given by g(x) = T—1

HE 75% WHH H T WET 80% wehwull § W wewn €| W WS W
WIFHm WA B, Al AT e au e g aom € (4]

Mohan tells the truth in 75% cases while Sohan in 80% cases. Find
the probability that Mohan tells the truth and Sohan tells lie to narrate

an incident.
T RIS X F Wiaw 427 Prergan €
x o)1 |2]3)a]s]|6s 7

PXy| O | k | 2k | 2k |3k | ¥ | 22| 78+k

I HIT (1) &, (i6) PO <3), (iii) PX > 6). [4]

A random variable X has the following probability distribution :

PO 0 [k [ 2| 2| q | g |2e] oes

Find () k. (i) POC<3), i) Py,

NM-45+ A -
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19)
Frder : (2) W HUR 24 ¥ 29 T Qfzuda ya &) vE FAS 28

W 29 W SifE AHE & wauE ¢ TRE T R 6 %
i € ‘

Instruction : (D) Question Nos. 24 to 29 are long answer type questions.
Question Nos. 28 and 29 have intemnal choice. Each

question carries 6 marks.

Ba .J-
Wy1-24 L‘mdxﬂﬂﬁiﬁml (6]
Findthev;lucof L“Uiﬂfh*'

weR-25 YRR SRR 0 5 IR

A 7@ Ffa | [6)

Using elementary operation, find 4™ of the matrix

[

o I —
|
i

L —

S = o

~ ~PT.0.
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[10]

w26 Wy = 4 ART AR

w-27

W¥i-28

1
(l—x’)%‘,—-x%—my 0.

If y=¢e""" then prove that

(- x’)——-x%-—my 0.

sera g e Y T wren =) v w6
ﬁﬂmﬁm'x+2y£ 10, 3x+y< 15 3R x>0, y > 0.
Z=3x + 2y T Afemaw 9F 9@ Fag

Find the maximum value of Z = 3x + 2y by graphical method of

solving linear programming problem under the following constraints :

x+2y< 10, 3x+y<g 15 and x20, y 2 0.

Jeigw f;+—-lﬁﬁ’t%aﬂémmﬁm(m
fafe @) |

1

Find the area bounded by the efy;

ol

2
pse — + 19- =1 (by integration

method).

OR

g

(6]

(6}
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weT-29

[11]
x=2uirwﬁ1"eosx%ﬁthmimm

x+l=y+1_____’+l x—-3 y=5_z2-1
AwaEsl 5 6 T =T, ===
¥ e W = g0 I w

Find the shortest distance between the Iwo straight lines

x+l=y+l=z+l x-3 y-5_z-1
7 —6 y = :

AamE x+y+z=1 AR 2x + 3y + 4z = 5 % FRrdEA YA A TR
aﬁaﬁmmx-y”-ommmmmm
Hifag |

Find the equation of plane passing through the line of intersection of
the two planesx +y+z = 1 and 2x + 3y + 4z = 5, and perpendicular

to the planex—y +z=0.

6]
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(2]
P : (ﬂ)mmlﬁqmmmfaﬁIWRTﬁ
frifta 8

Instruction : (A) Question Nos. 1 16 4 are very short answer type questions.

Each question carries | mark.

2 4
WA-1 wﬁ:A=|3 ZJ, 3=[' :Iﬁ A+-BEAA FAFU

2 4

If 4=
1

I 3
. B=|_, |, then find the value of 4 - 8.

Vi
wA-2, j:%mx-mxﬁ %1 9 31 #HaQ) {
) %
Find the value of j; secx-tanx dx
|
-3 mm 2.:’[ 3[%] + y =0 % Tz 79 9\ 7MW

[1

Find the order and degree of the differential equation
dy) ()
2.’ - 3[—J =0
]2

W4 R G =20 +2j - 5k M b =20+ j+ 3k ¥ i aryfem
A% Wi 71w ]

Find the unit vector in the direction of the sum of the vectors
G=2+2j-Skand b=2+j+3k.

NM-45+
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: i3]

.M * (W) W Wl s @ 12 wE wgewly e €1 vl A W 2 AW
favifem €

*(B) Question Nos. § 10 12 are short answer type questions.

Each question carries 2 marks.

Instruction

wi-5 mmﬁi Iin-lx+c,o"lx=.;- [l+l‘2]
Prove that sin'x 4 cos™' x = &
| l l
w-6 I T+x 1| =@ wm wifag) (2]
l | 1+ y
1 | |
Find the valueof |1 14+x 1
I I I+ y
-7 uﬁy=fﬁ.m%mwﬁmml {2
* then find the value of 4
Ify=x , Nen dx'
s e y=JEmrty DA %mqﬁmmi [2)

5 _g
If y= Jsinx +y, th'en find the value of % :
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(4]

fﬂ'.‘l.(:;—-a w1 7P TR W | 12)

-9
sin({tan™ " x
Find the value of f —j—x,—2
w-10 m“” —Lﬁmuﬂﬁm [1+1=2)
H i 2 = LT—L’
Solve the differential equation o priv L
WE-11 X, Y @ Z 3l %t ey wroard s wifeg | (1+1=2)
Find the direction cosines of X, Y and Z axcs, /
WeT-12 X A 3l B wds wed § aw P(4) = 02, P(B) = 0.5. 7 (AL B) ol
W wHg ) [1+1=2]
If A and B are independent events with (4) = 0.2, /X B)= 0.5, then
find the value of P(4U B).
frdor : (W) e w9 13 ¥ 23 7 Gizally v § ) v i 13, 14
w@ 17 ¥ ot fawew §) 7% w9 W 4 3w Prifa §)
Instruction : (C) Question Nos. 13 to 23 are long answer type questions.
Question Nos. 13, 14 and 17 have internal choice. Each
question carries 4 marks.
wyv-13 oz g R f(x) = 2 B0 W& e £ 1R — R, T v aTORw

t . 14]
Prove that the function / : R — R. given b}' f(x) = 2x is one-one and

onto.

NM-45+B

Z |
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191
T
OR

‘\‘ftmf:R—-RSﬁ'(g ;R = RWEW: fix)=x"+ 2mg(:)=%_l-.

Y# 1 TR Rl @, fog i go/ TR Ff 4]

If the function f : R — R be given by Ax)=x*+2and g R—R

X
x -1

be given by g(x) = . x# 1, find fog and gof.

W-14 IR cos'x+cos'y+cos'z=x B, W fag WY fis

2+ elnz=1, 14]

If cos™ x + cos™' y + cos™' z = =, then prove that

Ly ed+ne=1.

OR

tan™'

—li—f——" ) TEw w9 ¥ =y B

Jl+x:’-l

X

Write tan™' in the simplest form.

NM-45+B P.T.0.
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16]

a’ be  ac+ ¢’ 4
w-15 fag s f® | o* + ab b? e = 4a’b*c’ - 4]
ab b + be c?
a’ be ac+c
Prove that | a* +ab  b° ac |= 4a’b’c’ -
ab b' + be c?
W-16 WA f(x) = Jx' — 4 a;mdatmp,qﬁm#ahmmﬂﬂﬂ

) geaifaa Hiforg |
Verify Lagrange’s mean value theorcm for the function

f(x) =/x* = 4 inthe interval [2, 4].

wyT-17 Wmsﬁ%tﬁmmtwwmmﬂaﬂﬁ.mmm
mmmmttwﬁaﬂﬁmtqﬂaﬂﬂaﬁmmm L

fa=a1 15 ¥5t. 1 http://www.cgboardonline.com

A balloon which always remains spherical is being inflated by
pumping in 900 cubic cm of gas per second. Find the rate at which

the radius of the balloon increases, when the radius is 15 cm.

3rera1/OR
¥ 2 dead Fm HRA fT dm 24 } R o oREE IS
4

Find two numbers whose sum is 24 and whose product is as large

as possible.

[4]

14
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WYT-18 fe"-cosztdr 1 T TR W) (4]

Find the value of f e’.cos2xdr .

WT-19 S wiw x%+2y=.t’log.t ¥ S (4]

Solve the diflerential equation x% + 2y = x*logx.

W¥T-20 I WUIR P9 &1 4% T wifag foed fawdl 7 = 3i + j — 24

™ b =i-3;+ 4k &I [4)
Find the area of the parallelogram whose diagonals are
d=3i+j—2k and b =i—3j+4k.

(4]

WA-21 - (fxk)+j-(ix k) + k- (i xj) & °A 7@ K0

Find the valueof 7. (jx k) +j . (i x k) + k. (i xj).

i g
WA-22 U@ ARfee X wigwa s Frergar €
x| o |1 |2]3]a]s]|es 7
P(X) 0 k 2k | 2k | 3k | KB | 2F | TE+k

A RN (1) &, (i) PX < 3), (iii) P(X > 6). [4]

A random variable X has the following probability distribution :

X 0 | 2 3 4 5 6 7
AX)| O k | 2k ) 2k | 3k | K |2F ]| TKE+k

Find (i) k, (i) P(X < 3), (iii)) P(X > 6).
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18
W23 T 75% RO 3 o W g0y, el o e shern § 1 36 W

it FR WY, wrarfie s ww o v g shew

. ¥ o UNNCK. Fh“‘-
Muhan tells the truth in 752 cases while Sohan in R0%

A Al lie 1o nurrnte
the probability that Mohan tells the truth and Sohan telis i

an incident.

Frer : (%) WE W 24 @ 29 w6 dnlawda WA §) WO WS 27
T 28 W iRt rred W WAV § 1 WEE WA W 6

fvifa €

Instruction : (1)) Question Nos. 24 to 29 are long answer type questions.

Question Nos. 27 and 28 have internal choice. Each

question carrics 6 marks.

Wyt-24 YRR wiemail w1 wdm w gu ey

2 1 1
A=[1 0 1 | =14 3mwfng
0 2 -1 -

Using elementary operation, find A~ of the matrix

L I = T
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W9-25

W¥1-26

wvq-27

9]

2
e y ="' ¢, i fog Fifw fin (l-—x')-‘-’-—xuxﬂ'- —-m'y =0,

dx? dx
. ' d*v
It »=€""* then prove that (1 - x’)-&-"'T ~ x% -m'y =0,

| '] .J
Find the value of j; - ; dx
X a—x

2 2
W C+5 =13 R W e T W (T

fafa |@)

A

Find the area bounded by the cllipse -Ix—é -+ -:9— =1 (by intcgration

method).

rerar
OR

x=oam.r=2ntmamy=cosxﬂﬁ’tmmmmml

Find the area bounded by the curve y = cosy between x = () and

xnzul T T U [ [ — L

(6]

16]

16]
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x+)_y+l _z+1  x-3 _y-5_Z2-°
wwr-28 Awa @A 6 1 M@ —2 )

¥ e F =T g8 9@ Ffag

Find the shortest distance between the (wo straight lincs

x+l=y+l=z+| x-3__y—5____1"7__
7 -6 . ad T T T2 1
syerar
OR

R awael x + y+ 2= | M2 b3y + 4z = 5 ¥ FRTSIEA Y@ @ T

qﬁmmmx-y+z=ommmamﬂmm
wHifag

Find the equation of plane passing through the line of intersection of

the two planes x + y + z = | and 2x + 3y + 42 = 5, and perpendicular

to the plane x -y +z =10).

wya-29  arera g e e e w9 @ it
frersali & simfax+2r < 10, x4y < |15 3 x20,p>0

Z = 3x + 2y 1 Afuhaq WA 7 #ifag
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f1n]
Find the maximum value of Z = 3x + 2y by graphical method

of solving linear programming problem under the following

constraints :

x+2y< 10, 3x+y<15and x>0, y 2 0.
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General Instructions : (i) AW questions are compulsory.
(if) Use of calculator is not permitted.
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Ao

Instruction : (A)

-3

wi-4

(2]
E) mm1ﬁ4‘dﬁmmtlmmﬂn 3w

s €1

Question Nos. 1to 43 very short answer type questions.

Each question carrics 1 mark.

)
ATFS  GHEW %+x’{i—‘:’-]=o~qﬂmmﬂ&m
HifeTg |

Find the degree and order of differential equation

d’y zd:y’_
e +x ‘Er—z' =0,

2 4 -2 5
Ik A=L 2}, B=l3 J,?h@mmmml

-2, 5

B = l Il ] A
]' I 3 4]! th- ﬁnd AB.

IfA=(2 4

3 2

wfgn a=f'2j*mﬁmmm
7% R wirere Foreen wRtamor

Find a vector in the direction of vector & = § ~2j that has
magnitude 7 units,

Y5 dx
L T+ o i)

d,_-"

Find the value of J: }/‘5 o
+""“—.

(1]

(1]

[1]

(1]

NM-45+ C
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13]

v : (W) mmsﬁunwmimﬂﬁmﬂzﬁ

fuifta &)
Instruction : (B) Question Nos. 5 1, 12 are short answer type questions
' Each question carries 2 marks.
-5 e : : c_fy_
g M y=x" B/ R . AR g # @

If y = x™*, then find the value of %

-6  AfK P(4) = 0.8, P(B) = 0.5 3R P(B/4) = 0.4, A P(AUB) A e [1+1=2]

If P(4) = 0.8, P(B)=0.5, P(B/4) = 0.4, then find P(AUB).

we-7  4fg T W@ X, Y a1 Z el 9 v o & | wEe: 90°, 60° a9
30° =1 IV FRN &, O e woand g it [1+1=2]

If a line makes angles 90°, 60° and 30° with the positive direction of
X, Y and Z axes respectively, then find its direction cosines.

-8 fe"“-sec’xdr 1 AF IR HifAg [1+1=2]

Find the value of f ™. sec’ x dx .

w9 Pam WY coseo™'x +sec” % =T , [1+1=2]

Prove that cosec™'x +sec™' x = % '

NM-45+ C P.T.O
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(4]

& Fifrg 2
W10 wK y=funx+y I o ! ]

dy
If y= ,ftmx+y, then find the value of p

1 1 1 '
W11 ,1 l—x 1 | #1197 7@ Fifag) 2]
1 1 1-y
1 1 1
Find the valueof |1 1—x 1
1 1 1=y

W12 e Wl .:V_x=(l+,z).(l+y=) N W ¥ W

Hig| [1+1=2]

Find the general solution of differential equaiion

=(l+x’)-(l+y*)_

&S

NM-45+C
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- (5]
: (W) w1 wwiw 13 9 23 75 Sdfaada W &) W= =9 17, 18
w21 ifmiaﬁq;qu@qg.gaa;MW4ai$ﬁuiﬁutn

Instruction : (C) Question Nos. 13 o 23 are long answer type questions.

FreT

Question Nos. 17, 18 and 21 have intemal choice. Each
question carries 4 marks.

t
W13 O GRS X 0 W de frar €

X 0 1 2 3 la|ls )6 7

PX)| 0 | k| 2k | 26 |3k | e | 20| TR+

I WA (i) &, (if) PX < 3), (i) POXC> 6).

[4]
A random varigble X has the following probability
distribution : '
X 0 | 2 3 4 5 6 7
POl o | k| 2k| 2k |3k]| R |2e]| To+k

Find (i) k, (ii) P(X < 3), (iii) P(X > 6).

w-14 i-(,ixk)+j-(;‘ka)+k-(f"f) 1 A I HIAG | [4]
Find the value of i. (j x k) +j - (i x k) + k. (i % j).

W15 oW SRR TP @ Ser 9 Fi R fal 7 = 304 j - 2%

| am F=i-3j+ek® | 0

Find the area of the parallelogram whose diagonals are -

G=3i+j—2k and b =i—3j+4k.

NM_45+ C P-T.O-
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[6]
WHT-16 AN 75% Wil F qen W 80% FHOH ¥ s &1 3w wen #
‘ T g Sy, wafs Wed 99 T Ve g2 wew
Mohan tells the truth in 75% ¢as€s while Sohan in 80% cases. Find
the probability that Mohan tells the truth and Sohan tells lie to narrate

an incident.

W-17  F9g #Rg fiF £(x) = 2¢ G WA B 1 : R — R, ThH! 991 2TBRF
£

Prove that the function f : R — R, given by f{x) = 2x is one-one and
onto. http://www.cgboardonline.com

YT/ OR

IREE f:R— R g :a"f?—vR!IW!'I:}(.»:)=.'t:’+2Gﬂllg(:a:)=-Ll
x—

x# 1 g0 vRwifim 8, fog 3l gof T AN

If the function /' : R — R be givenby ix)=x’+2andg . R — R

be given by 9""=xf1' x# 1, find fog and gof.

W-18 WM cos'x+cos'y+cos'z=x W, @ Mg Fifre fis

4y 42z =1,

Ifcos'x +cos™'y + cos™' z = n, then prove that

24y 4P 2z =1.

[4]

[4]

(4]

NM-45+ C
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Irerar
OR
tan..l Jl + Iz -1 ’
. ! WEw w9 § W Hg
. Al + 2 -1
Write tan p ] in the simplest form.
a be ac+c
uv-19 faz sifeefs | o® + ab b? ac = da*b’c? . (4]
ab b* + be c?
a’ bce ac+c’
Prove that | a* + ab b’ ac |= 4a’b’c? .

2

ab b* + be c

W¥-20 e f(x)=-.fx’-—4 3 ferg taue [2, 4] ¥ Amiw & sivwa v W

H Feafya Hife (4]

Verify Lagrange’s mean value theorem for the function

f(x) = Jx* — 4 in the interval [2, 4].
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wet-21

weT-22

w¥-23

(8]
ﬂg'qﬁiﬂmm“ﬁ.ﬂﬂmm
!ﬁ’.l"'""‘"‘“t' wﬁthaﬁumaﬂfmm

e ¢ e o ¥
fyour 15 & &1

A balloon which always remains spherical is being inflated by

. in 900 cubic cm of gas per second. Find the rate at which
pumping

the radius of the balloon increases when the radius is 15 cm.

reran

OR

mammmwmutmmmm

T

Find the two numbers whose sum is 24 and whose product is as large

as possible.

fe"-aosz.rdx 1 A T R

Find the value of f e cos2xdx.

s wdww P
x-&; +2y = x’logx ) T& Hig

Solve the differential €quation xdy 4+ 2y = x"logx.

[4]

4]

(4]
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191
fder : () WO WA 24 } 29 g AT WA ¥ WA wHiw 28

W 26 ¥ it fameg & TAYA ¢ TS T W 6 3w
fuifta €1

Instruction : (D) Question Nos. 24 to 29 are long answer type questions.
Question Nos. 25 and 26 have internal choice. Each

question carries 6 marks.

-2 S TR P e s v ) v i
Fir sl & st x + 2y < 10, x+y< 1S x>0, y>0.

Z=3x + 2y %1 sfewan wm 3@ wifag

Find the maximum value of Z = 3x + 2y by graphical method of

solving linear programming problem under the following constraints -

x+2p< 10, 3x+y< 15 and x20,y>0.

1 1
W25 Qe it s = 2L 2 EES

- -5 z-7

B R B L

* 4% %) = g R W

Find the shortest distance between the tWo  straight |
ines

X+l y+1 z 4

(6]

(6]
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W¥i-26

wa-27

[1v]
e
OR

ﬂ " +z_|m2x+3y+42=5*m=|Wﬂm
agad x +y+z =

ok x_y”:oﬂtmmmmﬂmm

Hifeg |

Find the equation of plane passing through the line of intersection of

| the two planes x + y +z =1 and 2x + 3y + 4z = 5, and perpendicular

to the plane x -y + 2 =0.

2 1

ddgn L 42— A M & W doww @ F (WA

1 9
fafu @) (6]
. / P . .
Find the area bounded by the ellipse 6 + i 1 (by integration
method).
rerar
OR

x = 0 x = 20 & A FF y = cosx A R &% F1 Svwer 7 Fiforw

Find the area bounded by the curve y = cosx between x = 0 and x = 2.

J-ll J;
o Tx + Vo & WA 3m s

[6]

Find the value of j; N e J’_‘ dx
X+J8a—x
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WWI-28 IR p = men,

- x)dy
ax?

o = N

..........

(6]
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